Ampelschaltung

Module Ampel
declarations

taster
pin
16

Q7..Q0
node istype’buffer,reg’;

crt ST

= [Q7..Q5]; 
“Steuerzähler

ctr30
=
(Q4..Q0];
“Zähler für den Zeitrahmen

Frt,Frt
pin
3,4
istype’buffer,com‘; 
“Fußgänger Ampel

Art,Agb,Agr
pin
8,9,10
istype’buffer,com;
”Ampel für Auto

takt
pin
11

equations

when (ctr30.q==30)


then {ctr30.d=0}



else {ctr.30d=ctr.30.q+1};
ctr30.clk=takt&(ctrSt.q==>0);

when (ctrSt.q==6)


then {ctrST.d==0};


else {clkST.d < ctr30.ar1};

ctrSt.clk    =
taster & (ctr.St.q == 0)



#(ctr30.q==3)



#(ctr30.q==6)



..



#(ctr30.q==30); 

truth_table (ctr30 -> [Frt,Fge,Art,Agb,Agr])

0
->
[1,0,0,0,1]

1
->
[1,0,0,0,1]

2
->
[1,0,0,0,1]

3
->
[1,0,0,0,1]

4
->
[1,0,0,0,1]

5
->
[1,0,0,0,1]

6
->
[1,0,1,0,0]

..

9
->
[0,1,1,0,0]

..

24
->
[1,0,1,0,0]

..

27
->
[1,0,1,1,0]

..

30
->
[1,0,0,0,1]

END

